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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Development Administration ? With reference 

to India, discuss the role of Development 

Administration. 

fodkl iz’kklu D;k gS \ Hkkjr ds lanHkZ esa fodkl iz’kklu 

dh Hkwfedk dk o.kZu dhft,A 

2. What do you mean by Panchayati Raj System ? 

Evaluate the importance and achievements of 

Panchayati Raj in India.  

iapk;rh jkt O;oLFkk ls vki D;k le>rs gSa \ Hkkjr esa 

iapk;rh jkt ds egRo rFkk miyfC/k;ksa dk ewY;kadu dhft,A 

3. Describe the salient features of British Administration 

System. 

fczfV’k iz’kklfud O;oLFkk dh eq[; fo’ks”krkvkssa dk o.kZu 

dhft,A 

4. What do you understand by Comparative Public 

Administration ? Explain. 

rqyukRed yksd iz’kklu ls vki D;k le>rs gSa \ O;k[;k 

dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Discuss the causes of rise of Behaviourism. 

O;ogkjokn ds mn; ds dkj.kksa dk foospu dhft,A 

2. Explain the structural-functional approach. 

lajpukRed&izdk;Zokn mikxe ¼n`f”Vdks.k½ dh O;k[;k 

dhft,A 

3. Describe the salient features of the Chinese 

Constitution. 

phu ds lafo/kku dh izeq[k fo’ks”krkvksa dk o.kZu dhft,A 

4. Describe the Riggsian Prismatic Society. 

fjXl ds fizteh; lekt dh foospuk dhft,A 

5. What do you understand by Local Government. 

LFkkuh; ljdkj dk D;k vfHkizk; gS \ 

6. Discuss the theory of Separation of Power in U. S. A. 

vesfjdk esa ‘kfDr&i`FkDdj.k fl)kUr dh O;k[;k dhft,A 

7. What is meant by the Rule of Law ? Explain. 

fof/k ds ’kklu dk D;k vFkZ gS \ O;k[;k dhft,A 

8. Post-behaviourism is the extension of Behaviourism. 

Discuss. 

mŸkj&O;ogkjokn] O;ogkjokn dk foLrkj gSA le>kb,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. One party system is found in China. (True/False) 

phu esa ,d nyh; O;oLFkk gSA   ¼lR;@vlR;½ 

2. Parliamentary type of Government is found in Britain. 

(True/False) 

fczVsu esa lalnh; ‘kklu iz.kkyh gSA  ¼lR;@vlR;½ 

3. The feature of Unwritten Constitution is associated 

with U. K.  (True/False) 

vfyf[kr lafo/kku fczVsu dh fo’ks”krk gSA ¼lR;@vlR;½ 

4. Unitary Government is a feature of American 

Constitution.  (True/False) 

,dkRed ‘kkluiz.kkyh] vesfjdh lafo/kku dh ,d fo’ks”krk gSA

    ¼lR;@vlR;½ 

5. Sala model is related to Fred Riggs. (True/False) 

lkyk izk:i ÝsM fjXl ls lEcfU/kr gSA ¼lR;@vlR;½ 
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6. Post-behaviourism is related with fact and value both.  

     (True/False) 

mŸkj&O;ogkjokn rF; ,oa ewY;ksas nksuksa ls lEcfU/kr gSA 

    ¼lR;@vlR;½ 

7. U. S. A. has two party system. (True/False) 

vesfjdk esa f}nyh; i)fr gSA   ¼lR;@vlR;½ 

8. Behavioural approach emerged in 1940‟s in U. S. A. 

(True/False) 

O;ogkjoknh mikxe dk tUe 1940 ds n’kd esa vesfjdk esa 

gqvkA    ¼lR;@vlR;½ 

9. In China there is Constitution but not 

Constitutionalism. (True/False) 

phu esa lafo/kku gksrs gq, Hkh lafo/kkuokn dh Hkkouk ugha ik;h 

tkrh gSA   ¼lR;@vlR;½ 

10. Panchayati Raj System is based on Democratic 

Decentralization principles. (True/False) 

iapk;rh jkt O;oLFkk yksdrkaf=d fodsUnzhdj.k ds fl)kUr 

ij vk/kkfjr gSA   ¼lR;@vlR;½ 
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